ASP-1/Economics/CC-1A/GE-1/2017

B.A./B.Sc. 1st Semester (General) Examination, 2017 (CBCS)
Subject : Economics
Paper : CC-1A/GE-1

Time: 3 Hours Full Marks: 60

The figures in the right hand margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.
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(Microeconomics)

1. Answer any ten questions: 2x10=20
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(a) Distinguish between. cardinal utility and ordinal utility approach.
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(b) Distinguish between substitute goods and complementary goods.
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(c) What do you mean by law of demand?
SifenIa @ e ot § @Rl
(d) What is an indifference curve?
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(e) What is meant by own price elasticity of demand? How do you distinguish it from cross price
elasticity of demand?
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(f) What is Snob effect? What will be its impact on market demand curve?
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(g) State the law of variable proportions of factor of production.
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(h) Examine the value of marginal revenue when price elasticity of demand is equal to 1 (one). Then
what will be the shape of Total revenue curve?
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(1) What is opportunity cost?
s I 2
(j) What is an oligopoly market?
wferatsifer e e
(k) Distinguish between a firm and an industry?
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(1) Define marginal physical product and value of marginal product.
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(m) What is the condition of consumer’s equilibrium in marginal utility théory?
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(n) What is quasi rent?
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(o) What do you mean by speculative motive of demand for money?
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2. Answer any four questions: 5x4=20
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(a) Graphically explain the difference between change in demand and change in quantity demanded.
Mention any two factors responsible for change in demand. 4+1=5
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(b) What is income consumption curve? Explain the method of drawing income consumption curves
in indifference curve approach. : 1+4=5
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(c) What is Production function? Derive total Product, average Product and marginal Product curves

from Production function. 1+4=5
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(d) What do you mean by supply function of a firm? Explain the method of drawing short run supply
curve of an industry with the help of supply curves of individual firms under perfect competition.
1+4=5
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(e) Distinguish between implicit cost and explicit cost. Give an outline of Innovation theory of profit.
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(f) What is price discrimination? When is price discrimination possible and profitable? 1+4=5
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3. Answer any two questions: 10x2=20
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(a) Explain the effect of change in price of any one commodity on the consumer’s equlibrium in the

indifference curve approach. 10
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(b) Define monopoly market. Explain the method of price and output determination under monopoly
in the short run. 2+8=10
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(c) Explain the liquidity preference theory of interest as propounded by Keynes. 10
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(d) Explain the nature of individual supply curve of labour. 10
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